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I x mwn: Donation of weight in silver or gold
a  If: someone commits to "%y 9pwn”, they pay in either silver or gold, as per their explication
i Note: only if they explicated; if not, they may use any material (even tar) if it is locally weighed (at least by some)
1 Even if: after weighing it, they throw a few more pieces in — still considered “weighed”
b Story: wealthy woman committed to bring her daughter’s weight and brought gold
i Point: if the person is wealthy, they pay in gold even if they didn’t explicate
¢ Committing a limb: if he commits to »1 Spwn
i anip /7. fill barrel with water, put his hand in until the elbow, the refill with donkey bone, flesh and sinews
ii ~ »p» 7 impossible to correspond exactly — rather, estimate weight and give based on estimate
1 anaclarifying dispute: (added — if he commits to weight of leg, uses same barrel displacement — until knee)
2 Allusion(7mi 77): v. 1 (donkey meat/bones weigh approximately same as humans)
(a) sor 77(N17773): cannot measure sinews to sinews etc. with any exactitude
(i) A7mi ' we estimate
(if) so» /1 if so, just estimate the weight of the hand (or leg etc.)
(iii) /77777 ”7 we accomplish as much as we can
3 Challenge (to measuring “hand” until elbow): ©%x M P VI1TP is until wrist
(a) Answer: n"nn — 7 is until wrist; for 0111 (our case) — we follow colloquial use (includes forearm)
(b) Challenge: n"nn — 7 is until shoulder (per v. 2)
(1) Answer: n"nn — 71 is until shoulder; for 01, follow DTXR 2 WY and 1" VITP is N"PON
4 Challenge (to measuring “leg” until knee): 0531 (in re Y319 n”5y) — excludes pap '5ya (amputees at ankle)
(a) Answer: n"nn — "97" is until ankle; for n»m, we follow DR "2 YWY
(b) Challenge: n"nn — 91 is higher, per allowance for n¥'9n to be until knee (v. 3)
(i) Answer: n"nn — Y% is until ankle (and 07 - follow DTR 712 NYY); N¥HN has dispensation of 1931 Syn
(ii) Challenge: if so, even higher than knee should be valid
1. Defense: Y931 9yn doesn’t extend more than one joint (else — it would be 1931 5yn% 9yn)
2. Observaiton (979): ankle must reach the ground; else until knee would already be 5yn% Yyn
3. Block (#wx 77): if there is no interruption, all considered one (even though ankle doesn’t reach)
II  nm a7's dictum — if he says ">y 'nmp, we take a narrow stick to his height; if he says 'y 'nmp Ron — we take one that is
thick enough as not to bend (= his height plus some depth)
a  Challenge (¥n2273): in either case, we use a thicker (non-bending) stick (and measure gold/silver to that height)
i Defense: N’ 21 was following »™’s approach of reading significance into every word (per 2:7 2"2)
b Questions (all unresolved): if he said 1y or »amA or "N1W’ or »2 or *9»’n — how is it measured?
III 12 mwn: if he commits to the value of his hand, we estimate the difference between his worth with vs. without hand
a  Note: this is a stringency of 01T vs. 127 (in 1727, if he commits to the value of his hand, owes nothing)
b Assessment:)
i ~N27 as we assess for damages (how much he has lost value on slave market
1 Challenge (»3x): in ppn, he is “damaged”; here, he must be assessed at present as against if he were damaged
it Rather (»aK): we assess how much someone would pay for an 712y who works with one hand as opposed to two
1 Challenge: in either case, we are assessing a one-handed vs. two-handed slave
2 Rather: we assess as if the other hand were already committed to another master
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iii  Question (X27): if he was already assessed for pn, then he said 5y »1’ 'n7T - can we use that Xmw for this 2vn?
1 Lemmal: he was already assessed OR
2 Lemma2: we can’t compare an assessment done by 3 (pn) with that done by 10 (o'n7)?
(a) If: we accept that the two aren’t comparable and he requires a new R11mR, what if he said "5y » 07 and
was assessed — then recommitted to that same hand — does he require a new RyTmIR?
(b) Lemmal: in this case, he was already assessed by 10 OR
(c) Lemma2: he may have appreciated in the intervening time
(i) If: we follow the notion that he may have appreciated — what if he committed to 'y »1’ 'n7 and before
being assessed, he recommitted to that same 7> — would he need two assessments?
(ii) Lemmal: since he committed at one “time”, one assessment is enough OR
(iii) Lemma2: since his commitments were not nnX naa, requires separate RITMR
1. If: we accept the approach that he requires separate R31mR for each commitment, what if he said
MY T MT NV -
2. Lemmal: this commitment is certainly nnx naa OR
3. Lemma?2: since he said 1, as if two separate commitments
a. If: we follow the notion that 1w implies separate commitments,
b.  Then: what if he had been assessed inadvertently, would we accept it?
c. Lemmal: he was assessed OR
d. Lemma2: assessment requires TmR> N3
3 Resolution: perhaps one of these can be resolved from next part of 2 mwn — if he said *>» 'n7 and died, heirs do
not pay, as a nn has no onT
(a) But: if auto-assessment counts, certainly everyone is worth at least 4 11
(b) Block: "9y 1 doesn’t assume RITMR; if he was already assessed, then he was, indeed, assessed
IV 21 mwn: ...and stringency of 129 over wnT -
a  If: he said *9y 57y and died, heirs pay full 71p; but if he said *5y 'n1 and died — heirs owe nothing (no o'nn5 onT)
i ap»ax stringency of 11T — apply to animals as well and there is no allowance for T awn, unlike 27y
1 And: stringency of 127y — per our rule (nm %Y 137y)
(a) Inference (from nmr 75y »37¥7): an oral debt is collected from heirs
(b) Block: in this case, it is a commitment written in the n7n
(i) Inference: n7IN2 NIMIN MYn is W NN
(ii) Block: in this case, he was already 112 70 (and it was written by 7”1)
(iii) And: parallel in case of 0’nT - required RyTMR (and he died first) no R11mMR needed for pa7y
b If: he said »» 7 or *931 7 — pays nothing; but »o&7 79 or 123 7 — pays full
i 37 if he said »» 779 — must pay the 0n7 of his hand (or leg) - per n” (n%Y025 Y727 XX N DIR PR)
1 Challenge: 21 already expressed ruling like n”, in re: »5y nr *9a 7»
2 Justification: in that case, he certainly knew that there is no '3 79 and intended on7
(a) But:in our case, he may have erred - if there is an 77 for W&, might also be for hand = "np
ii ~ Rule: if he commits to 71 of a vital organ, pays full amount (per "mway” [v. 4])
1  Note: additional mention of rule - to extend to a leg above the knee (cf. 7:10 mna)
V2 mwn: if he commits to half of his 719 — pays ¥ total amount; if he commits to 77 of his half — pays full;
a  Nf7773 0T 920V " —must pay full, as precaution against 7%y »xn 77" which pays full
b  And if: he commits to half of his 7 —pays %2 value; if he commits to 'n7 of his half — pays full (v. 4 — mwal 171 113)
i Rule: if he commits to 71 or »'n7 of a vital organ, pays full amount
ii ~ ap79x if he commits to ¥ 7Y '8N — 0™ says he pays Y2 *93 7, 1271 exempt him completely
1  Story: students and »ar came to visit X217 (who was ill); students challenged nnan here - if they hold »xm nTR
1501 1127, then even if he committed to complete '3 should be exempt
(a) Answer (8371 7358): they agree with n”1 (nY015 1127 X% DIR PR) but also like w™ and exempt him because
D72TINNN TIT2 12NN RY (atypical to commit to half of a 93)
VI 1 mwn:if Y commits to 71 of X and both Y and X die - heirs of Y pay
a  However: if Y commits to 'n7 X ; if Y dies, his heirs pay full; if X dies, Y owes nothing, as no onn> o7
b Challenge: how is this different from 21 nwn, which we already established as a case of 12 T™HY
¢ Answer: needed for 890 — if he committed to '8 'n7 and 71 died, heirs still pay
i Even though: 911 hadn’t been assessed, T12yw is immediate and R11mR just clairifies obligation (XnY»a Rn>n ")
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